16236J 36" Wx72"Hx18"D
STORAGE CABINET

INSTRUCTION MANUAL

BLACKCOMB

#



IF ANY PARTS ARE
MISSING OR DAMAGED,
OR IF YOU HAVE ANY
QUESTIONS, PLEASE CALL
1-866-221-8146.

www.salmonboy.ca

Read and understand this instruction manual thoroughly before using
O the product. It contains important information for your safety, as well
as operating and maintenance advice.

O Keep this instruction manual for future use. Should this product be

passed on to a third party, this instruction manual must be included.

2 A,

BLACKCOMB
Storage Cabinet 16236J



TABLE OF CONTENTS

TECHNICAL SPECIFICATIONS 3
SAFETY GUIDELINES 4
EXPLODED VIEW 5-6
PACKAGE CONTENTS 7-10
ASSEMBLY INSTRUCTIONS 11-18
WARRANTY 19
ADDITIONAL AND SPARE PARTS 20

D 4

BLACKCOMB
Storage Cabinet 16236J



: TECHNICAL SPECIFICATIONS

Component Maximum load
Each shelf 150 Ib (68 kg)
Bottom panel 150 Ib (68 kg)

Note: Maximum load for the cabinet is 600 Ib (270 kg).

D 4
BLACKCOMB
Storage Cabinet 16236J



gt

Crucial information that relates to protecting your personal safety and to prevent equipment issues

Safety guidelines

are contained in this manual. It is in your best interest to read this manual carefully beforehand and
understand it thoroughly before assembling and using the product. Below are the symbols used to

indicate this information.

CAUTION!

Potential hazard that may result in
moderate injury or damage to equipment.

Note - The word “Note” is used to inform the
reader of something the user needs to know
about the tool.

SAFETY RECOMMENDATIONS
These safety precautions are for the personal safety of the user and others working on the product.
Failure to comply with these instructions may cause in serious or even fatal injury, property

damage and/ or equipment damage. Take time to read the instructions and fully understand them.

CAUTION!

Potential hazard that may result in
moderate injury or damage to equipment.

* Place the cabinet on a level surface.

e This product is intended for indoor use only.

¢ \When cleaning use a soft damp to clean the cabinet.

* Do not stand on cabinet, and do not use it as a scaffold.

e Please do not exceed the weight limit specified for this product.

e Any assembly or maintenance of the product must be carried out by adults only.
¢ Arrange for the necessary man power when assembling and moving the cabinet.

e Check all screws periodically and tighten them, if required.

D 4

BLACKCOMB
Storage Cabinet 16236J



EXPLODED VIEW

«
ﬁ/ »
N

>

\\\\\\\\\\\\\\\

\
/
WA
%
@, \a%
YX
7N\
N
<
o

i l//ﬁm/J ,

D 4

BLACKCOMB
Storage Cabinet 16236J



EXPLODED VIEW (€ <

(#1-A) Left Side Panel (#2-A) Right Side Panel

I
\ I

e

(#6-A) Left Door (#7-A) Right Door

4

vt
®
®
///

E
—~
BT, ¢

/

D 4
BLACKCOMB
Storage Cabinet 16236J



PACKAGE CONTENTS

— L

Name Part No. Qty lllustration

Left Side - Upper Panel #1-A1 1

Left Side - Bottom Panel | # 1-A2 1

Side Panel Rginforcement #1-A3 9
Connection Part

\\ -

Right Side - Upper Panel | # 2-A1 1

Wi,

Right Side - Bottom Panel | # 2-A2 1

Top Panel #3 1 N
~>
Bottom Panel #4 1
Middle Shelf #5 3
AN

BLACKCOMB
Storage Cabinet 16236J



PACKAGE CONTENTS

:_A_

Name Part No. Qty lllustration

Left Door - Upper Panel | # 6-A1l 1

Left Door - Bottom Panel | # 6-A2 1

Door Panel Connection Part # 6-A3 2

Right Door - Upper Panel | # 7-A1 1

Right Door - Bottom Panel | # 7-A2 1

Key Rod #7-A3 1
Upper Back Panel #8 1
Middle Back Panel #9 2

AN

BLACKCOMB
Storage Cabinet 16236J



) PACKAGE CONTENTS

&

BLACKCOMB
Storage Cabinet 16236J

Name Part No. Qty lllustration
Bottom Back Panel #10 1
Corner Protection - A #15 1
Corner Protection - B #16 1
Middle Corner Protection| #17 2
Wheel with Brake #12 2
Wheel w/o Break #13 2
Hook #34 12
Magnet #23 2
AN




PACKAGE CONTENTS

U o

Name Part No. Qty lllustration
Bumper # 58 4 {%ﬁg&@'
Key #22 2 @ —
Screw Driver #21 1
Screw F (M4 x 8) #4141 86
Screw K (M4 x 10L) #52 8
Screw G (M4 x 30L) #42 12
Screw L (M4 x 6L) #53 1
Screw N (M4 x 10L) #54 18
Screw D (M8x18L) #17 16
Screw C (M4x18L) #16 16
AN

BLACKCOMB
Storage Cabinet 16236J



ASSEMBLY INSTRUCTIONS

— L]

Assembly preparation

¢ Assemble the workbench on a clean, level surface.
¢ Remove all items from the packaging box and ensure that all parts listed on pages 7-10 are available.
¢ When installing parts that have more than one screw, tighten all screws by hand before tightening them
with the screwdriver provided.
¢ The package contains an updated product construction designed for ease of transportation while maintaining

arigid structure.
Tip: A magnetic screwdriver is included. If utilizing a power screwdriver, use low torque setting.

Warning: It is recommended to wear gloves during assembly because some parts may have sharp edges.

Assembly instructions fig A

1. Install Lett Side Panel. (#1-A) \
X
Position the Left Side - Upper Panel (#1-A1)and @\

Left Side - Bottom Panel (#1-A2) together, place
the Side Panel Reinforcement Connection Part
(#1-A3) over the touching edges, align screw
holes, use 3 (#42) Screw G to tighten from the
side, then use 4 (#41) Screw F to tighten from
the top side. (fig A)

Note: Make sure the Left Side Upper Panel (#1-A1) is
aligned with Left Side Bottom Panel (#1-A2) .

BLACKCOMB
Storage Cabinet 16236J



ASSEMBLY INSTRUCTIONS

2. Install Right Side Panel.(#2-A)

Repeat Step 1, use (#2-A1) Right Side
Upper Panel, (#2-A2) Right Side Bottom

Panel, (#1-A3) Side Panel Reinforcement T H-A3 ./ .

Connection Part 3pcs (#42) Screw G to RS

tighten from the side, then use 4pcs (#41) /:-,/

Screw F to tighten from the top side.
(fig B)

3. Install Left Door. (#6-A)
(fig C)

1). Place Left Door - Upper Panel (#6-A1)
and Left Door - Bottom Panel (#6-A2)
together, line up screw holes, use 1 (#41)

Screw F to tighten from the side.

2). Put the Door Panel Connection Part
(#6-A3) over the touching sides, align the
screw holes, use 4 (#41) Screw F to secure

from the top, and use 4 (#52) Screw K to /,/:f“,@

tighten from outside edge.

~
Note: Make sure the Left Door - Upper <

Panel (#6-A1) is aligned with Left
Door - Bottom Panel (#6-A2).

BLACKCOMB
Storage Cabinet 16236J



ASSEMBLY INSTRUCTIONS

— L

4. Install Right Door. (#7-A)

Repeat Step 3, use Right Door -
Upper Panel (#7-A1), Right Door -
Bottom Panel (#7-A2), Door Panel
Connection Part (#6-A3), use 1
(#41) Screw F to tighten the touch-
ing sides, use 4 (#41) Screw F to

tighten from the top touching side,
and 4 (#52) Screw K to tighten from
outside edge. (fig D)

Note: Make sure the Right Door - Upper
Panel (#7-A1) is aligned with Right
Door - Bottom Panel (#7-A2).

fig E

5. Install Key Rod. (#7-A3)

Insert Key Rod (#7-A3) into the
bottom tab hole of Right Door -
Bottom Panel (#7-A2), unscrew the

Pre-assembled (#53) Screw L on

the key rod linkage plate, attach
Key Rod (#7-A3) by lining up the
screw hole and tightening back in
the (#53) Screw L. (fig E)

BLACKCOMB
Storage Cabinet 16236J



6.

Note:

Install Top Panel (#3) to Left Side Upper flg F
Panel (#1-A1) and Right Side Upper Panel
(#2-A1).

Connect the Top Panel (#3) to Left Side Upper
Panel (#1-A1) and Right Side Upper Panel
(#2-A1). Make sure the front of the panel is
facing downward. Align screw holes, use 6
(#41) Screw F to tighten. (fig F)

Make sure the bottom corners of Left Side
Upper Panels and Right Side Upper Panels
(#1-A1, #2-A1) are completely aligned
with the back and front corners of Top
Panel (#3), before tightening the screws.

Note:

. Install Bottom Panel (#4) to Left Side

Bottom Panel (#1-A2) and Right Side
Bottom Panel (#2-A2).

Connect the Bottom Panel (#4) to Left Side
Bottom Panel (#1-A2)and Right Side Bottom
Panel (#2-A2). Make sure the front of the
bottom panel is facing downward. Align
screw holes, use 6 (#42) Screw G to
tighten. (fig G)

Make sure the bottom corners of Left Side
Bottom Panel and Right Side Bottom Panels
(#1-A2, #2-A2) are completely aligned with the
back and front corners of Bottom Panel (#4),

before tightening the screws.

D 4 .

BLACKCOMB
Storage Cabinet 16236J




ASSEMBLY INSTRUCTIONS

— Ty

8- Install Back Panels (#8, #9 and #10).
(figH)

1). Connect the Bottom Back Panel (#10)
onto both Bottom of Left and Right Side
Panels (#1-A2 and #2-A2) and Bottom
Panel (#4), line up screw holes, use 7
(#41) Screw F to tighten.

2). Connect both Middle Back Panel (#9)
above Bottom Back Panel (#10). Place
the groove of the Middle Back Panel (#9)
onto the top edge of the Bottom Back
Panel (#10), use 16 (#41) Screw F to
tighten.

3). Use 13 (#41) Screw F to install Upper
Back Panel (#8) the same way.

0. Install Wheels (#12 & #13).
(fig!)

Install the Wheels with Brakes
(#12) onto the front of the
cabinet and screw the Wheels
Without Brakes (#13) onto the
back of the cabinet. Use 16
(#17) Screws D to tighten.

D 4 .
BLACKCOMB
Storage Cabinet 16236J



1 0 = Install Corner Protections (#15, #16 and

#17). (fig J)

1). Connect the Corner Protection A, B (#15,
#16) onto Top of the cabinet, use 10 (#54)
Screw N to tighten.

2). Connect the Middle Corner Protection (#17)
to the middle of Left Side Panel (#1-A) and
Right Side Panel (#2-A), use 8 (#54) Screw N to
tighten.

3). Connect the Bumper (#58) to the corner of
Bottom panel (#4), use 16 (#16) Screw C to
tighten.

11.

Install Magnet (#23). (fig K)

Place Magnet (#23) onto Top Panel (#3) and

=

Bottom Panel (#4) facing the front, use 4
(#41) Screw F to tighten.

BLACKCOMB
Storage Cabinet 16236J




ASSEMBLY INSTRUCTIONS

fig L

— iy

12. Install Left and Right Doors (#6-A, #7-A).
(fig L)

1). Attach Left Door (#6-A) to Left Side Panel
(#1-A), use 11 (#41) Screw F to tighten.

Note: The screw holes on the door hinges

have a slight spacing, enabling the door

to be adjusted and centered in the door

frame. Place top, middle and bottom
Screws first. Don't tighten screws

completely, allowing slight adjustments

.

for leveling door panels later.

2). Install Right Door (#7-A) the same way. ég/ g

)]
~

@

A

BLACKCOMB
Storage Cabinet 16236J



13. install Middle Shelves (#5). (fig M) fig M

1). Select the height for the Middle Shelves (#5). Place

1 of (#34) Hook into the hook slots where each corner
T

of shelf should be placed. Make sure the hooks are

positioned at same height.

2). Put the Middle Shelf (#5) into cabinet and lock
down onto Hooks (#34).

Note: The Middle Shelves (#5) need a hooks at each corner to
support it.

150 Ibs. maximum loading for each shelf.

\

Y

D 4

BLACKCOMB
Storage Cabinet 16236J



) WARRANTY

This BLACKCOMB® product carries a one-year

‘ limited warranty against defects in materials and
workmanship. Subject to conditions and limitations
1 YE A R described below, this product, if returned to us with
WARRANTY proof of purchase within the stated warranty period

\-¥ 4

and if covered under this warranty, will be repaired
or replaced (with the same model, or one of equal
value or specification), at our option. We will bear
the cost of any repair or replacement of the product
and any costs of labour relating thereto.

This warranty is subject to the following conditions and limitations :

a. A bill of sale to verify the purchase and purchase date must be provided.

b. This warranty will not apply to any product or part thereof that is worn or damaged or that has become inopera-
tive due to abuse, misuse, accidental damage, neglect, or lack of proper installation, operation, or maintenance
(as outlined in the applicable instruction manual or operating instructions), or that is being used for industrial,
professional, commercial or rental purposes.

c¢. This warranty will not apply to normal wear and tear or to expendable parts or accessories that may be supplied
with the product that are expected to become inoperative or unusable after a reasonable period of use.

d. This warranty will not apply where damage is caused by repairs made or attempted by others(i.e., persons not
authorized by the manufacturer).

e. This warranty will not apply to any product that was sold to the original purchaser as a reconditioned or refur-
bished product (unless otherwise specified in writing).

f. This warranty will not apply to any product or part thereof if any part from another manufacturer is installed
therein or any repairs or changes have been made or attempted by unauthorized persons.

g. This warranty will not apply to normal deterioration of the exterior finish, such as, but not limited to, scratches,
dents, paint chips, or to any corrosion or discolouring by heat, or abrasive and chemical cleaners.

h. This warranty applies only to the original purchaser and may not be transferred. Neither the retailer nor the
manufacturer shall be liable for any other expense, loss, or damage, including, without limitation, any indirect,
incidental, consequential, or exemplary damages arising in connection with the sale, use or inability to use
this product.

D 4

BLACKCOMB
Storage Cabinet 16236J



ADDITIONAL & SPARE PARTS

Salmon Boy Ltd. proudly provides additional and spare parts for your BLACKCOMB cabinets and workbenches.
Feel free to contact us if you have any questions or need any additional, spare parts at 1-866-221-8146.
Service@SalmonBoy.ca

M14 wheel module

a set of 4 rolling casters (2 with breaks)

for 20248J, 16241), 68-6364, 68-6365, 68-1221,
68-0667 cabinets/ workbenches

M12 Leveling feet
a set of 4 leveling feet for 68-1224 workbench

LapLep
o o

Lap
o

Extra shelf Lock set

a shelf with 4 hooks (if the shelf needs hooks) anew lock with 2 keys
for 20248, 20209J, 16236J, 16241J, 20205J, 68-0558,

68-1224, 68-1226, 68-6364, 68-6365, 68-6366, 68-1221

or 68-0667 cabinets/ workbenches

D 4

BLACKCOMB
Storage Cabinet 16236J






